
Trigonometry And Matrices : De Moivre’s Theorem

Calculus

If ✗ and B be the roots of
R2- 2N -14=0

,
Prove that

d) an + pn = 2^+1 Cos}

di ) 26+136=128

¥ R2 - 2N -14=0

Nz -b±[b



=2±!
=2I2zJ.
=44¥- = 1±i53 .

2=11-153 P= I -153.

Let /+ ifs = rllosotisino)
By comparing.



or lost = I - ①

r si no = 53 -④

By shearing and adding
gi (cos + sin201=1+3

of --4
fu = 2

.

Divide ④ by ①

÷:-=¥



tano = 53 .

C) Lⁿ+P
"

= Khosa + isino))
"

-1@Kosa _ isinoD
"

= rn (Cosmo +isinnot Cosmo - isinna)

= Ñ (2 Cosmo)

= 2h . 2 Cos n ( 60°)

= 2^+1 Los " -111s. =RHI



26 +p6 Put n--6
= 26+1 Cos 6¥ =

=
27 . Cos21-1 = 128 = R.ES


